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1. After interchanging + and –, 8 and 7, which one of the follwoing

becomes correct?

+ vkSj – dks] 8 vkSj 7 dks ijLij cnyus ij fuEufyf[kr esa ls
dkSu&lh inlagfr lgh gksxh\

1) 8 – 7 3 5 35+ × = 2) 

7 8 6 – 9 25× + =

3)

6 8 2 – 7 0+ × =

4) 

8 2 7 – 6 9× + =

Directions (2–4) : In each of the following questions, select the

related word/letters/ number from the given alternatives.

fuEufyf[kr izR;sd iz'u esa fn, x, fodYiksa esa ls lacaf/r
'kCn@v{kjksa@la[;k dks pqfu,A

2- 4% 17 % % 7 % \

1) 50 2) 48

3) 49 4) 51

3- Kidneys : Nephron : : Central Nervous System :?

xqnsZ% usizQksu % % dsUnzh; raf=kdk ra=k % \

1) Spinal cord/ es:jTtq 2) Cerebrum/ izefLr"d

3)Brain/ efLr"d 4) Neurons/ U;wjksUl

4- JOKE :  GLHB : : RISK : ?

1) OFPH 2) SJTL

3) ULVN 4) QHRJ

Directions (5–6) : In each of the following questions, identify the

diagram that best represents the relationship among classes

given below:

fuEufyf[kr izR;sd iz'u esa og vkjs[k pqfu, tks uhps fn, x, oxksZa
ds chp laca/ dk lgh fu:i.k djrk gSA

5- Languages, English, and Kannada

Hkk"kk,¡] vaxzsT+kh vkSj dUuM+

6- Professors, Researchers, Scientists

izksiQslj] 'kks/dÙkkZ] oSKkfud

Directions (7–8) : In each of the follwoing quewstions, select the

missing number from the given responses.

fuEufyf[kr izR;sd iz'u esa fn, x, fodYiksa esa ls yqIr vad Kkr

dhft,A

7-

1) 575 2) 729

3) 340 4) 615

8-

1) 84 2) 104

3) 94 4) 74
Directions : In the following question, among the four answer

figures which can be formed from the cut out pleces given in
question figure.

uhps fn, x, iz'u esas fuEufyf[kr dVs gq, VqdM+ksa ls mÙkj vkd`fr;ksa
esa ls dkSu&lh vkd`fr cukbZ tk ldrh gs\

9- Question Figure/ iz'u vkd`fr%

10- If a paper is folded in a particular manner and a punch is

made, when unfolded this paper appears as given below in

the question figure. Find out the manner in which the paper

is folded and the punch is made from the answer figures

given.

Test of Reasoning
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Directions : In the following questions, which answer figure will
complete the pattern in the question figure?

fuEufyf[kr iz'u esa dkSu&lh mÙkj vkd`fr iz'u vkd`fr ds izfr:i
dks iwjk djsxh\

20- Question Figure/ iz'u vkd`fr%

Directions : In the following question, from the given alternative

words, select the word which cannot be formed using the

letters of the given word.

uhps fn, x, iz'u esa fuEufyf[kr fodYiksa esa ls og 'kCn pqfu, tks
fn, x, 'kCn ds v{kjksa dk iz;ksx djds cuk;k ugha tk ldrk gSA

21- INCONVENIENCE

1) CONVINCE 2) CONVENE

3) CONSCIENCE 4) CONCEIVE

22. There are deer and peacocks in a zoo. By counting heads

they are 80. The number of their legs is 200. How many pea-

cocks are there?

,d fpfM+;k?kj esa fgj.k vkSj eksj gSaA flj fxuus ij os 80 gSaA mudh
Vkaxksa dh la[;k 200 gSA eksj fdrus gSa\

1) 50 2) 30

3) 60 4) 20

Directions : In the following questions, arrange the follwoing

words as per order in the dictionary.

uhps fn, x, iz'u esa fuEufyf[kr 'kCnksa dks 'kCn dks'k esa fn, x,
Øe ds vuqlkj fyf[k,%

23- 1) Convince 2) Converge

3) Convenience 4) Convalesce

5) Converse

1) 1, 4, 3, 2, 5 2) 4, 3, 2, 5, 1

3) 4, 3, 2, 1, 5 4) 4, 2, 5, 3, 1

Directions : In the following question, one or two statements is

given followed by two conclusions/ assumptions, I and II.

You have to consider the statement to be true, even if it

seems to be at varlance from commonly known facts. You are

to decide which of the given conclusions/ assumptions can

definitely be drawn from the given statement. Indicate your

answer.

fuEufyf[kr iz'u esa ,d ;k nks oDrO; fn;k x;k gS] ftlds vkxs

nks fu"d"kZ@ekU;rk,¡ I vkSj II fudkys x, gSaA vkidks fopkj djuk gS dh
oDrO; lR; gS pkgs og lkekU;r% Kkr rF;ksa ls fHkuu izrhr gksrk gksA
vkidks fu.kZ; djuk gS fd fn, x, oDrO; esa ls dkSu&lk fuf'pr :i
ls lgh fu"d"kZ@ ekU;rk fudkyk tk ldrk gSA vius mÙkj dks fufnZ"V
dhft,A

24- Statements/ dFku%

1) Some politicians are social workers.

dqN jktuhfrK] lkekftd dk;ZdrkZ gSA

2)All doctors are social workers.

lHkh fpfdRld] lkekftd dk;ZdrkZ gSA

Conclusions/ fu"d"kZ%

I. Some doctors are politicians

dqN fpfdRld jktuhfrK gSaA

II. Some social workers are doctors as well as politicians

dqN lkekftd dk;ZdrkZ] fpfdRld rFkk jktuhfrK nksuksa gSaA

1)Neither Conclusion I nor II follows.

u rks fu"d"kZ I u gh fu"d"kZ II fudyrk gSA

2)Only Conclusion II follow.

dsoy fu"d"kZ II fudyrk gSA

3)Both Conclusions I and II follow.

fu"d"kZ I rFkk II nksuksa fudyrs gSaA

4)Only Conclusion I follows.

dsoy fu"d"kZ I fudyrk gSA

25- If ROME is written as MORE then DARE is written as :

;fn ROME  dks MORE  fy[kk tkrk gS rks DARE dks D;k fy[kk
tk,xk\

1)RDEA 2) RAED

3) RDAE 4) RADE

QUANTITATIVE  APTITUDE

26. A trader sells two computers at the same price. On one he

makes a profit of 15% and on the other he suffers a loss of

15%. Find his again or loss percent.

,d O;kikjh nks dEI;wVj leku dher ij csprk gSA ,d ij mls
15% dk ykHk gksrk gS vkSj nwljs ij 15% dh gkfu gksrh gSA mldk
oÙkZeku ykHk ;k gkfu fdruh gksxh\
1) 2.25% loss 2) 2% gain

3) 2% loss 4) No loss no gain

27. Two trains of equal length running in opposite direction pass

a student standing by the side of railway line in 18 second

and 12 second respectively. The time that the two trains will

take to cross each other is -

foijhr fn'kkvksa ls pyrh gqbZ leku yEckbZ dh nks Vªsusa jsyos ykbZu
ds lkbM esa [kM+s gq, fo|kFkhZ ds ikl ls Øe'k% 18 lsd.M vkSj 12
lsd.M esa xqtjrh gSA nksuksa Vªsusa ,d nwljs dks ikj djus esa fdruk le;

ysaxh\

1) 7.2 second 2) 9.6 second

3) 10.8 second 4) 14.4 second
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43. A group of 1200 persons consists of soldiers and captains. If

every 15 soldiers have one captain, then the number of cap-

tain is-

1200 O;fDr;ksa ds ,d lewg essa flikgh o dIrku gSA ;fn izR;sd 15
flikfg;ksa ij ,d dIrku gSA rks dIrkuksa dh la[;k gS&
1) 73 2) 70

3) 75 3) 80

44. If the difference between 
3

4
 and 

4

7

 of a number is 100, then

the number is-

fdlh la[;k ds 

3

4

 vkSj 

4

7

 ds chp dk vUrj 100 gSA rks la[;k gS&

1) 520 2) 500

3) 560 4) 540

45. The angle between the hour hand and the minute hand of a

clock when time is 3:25 will be-

?kM+h eas 3 ctdj 25 feuV ij ?kaVs dh lqbZ o feuV dh lqbZ ds chp
esa dks.k gksxk&

1) 47

01

2

2) 42

01

2

3) 600 4) 450

46. Find the smallest number which is when divided by 12, 16 and

18, the remainder in each case is 5,

og lcls NksVh la[;k Kkr dhft,] ftldks ;fn 12] 16 vkSj 18 ls
Hkkx nsus ij 'ks"kiQy 5 cps&
1) 146 2) 147

3) 148 4) 149

47. A 100 metre long train crosses a telephone pole in 10 sec-

onds. Find the speed of the train.

,d 100 ehñ yEch jsyxkM+h fdlh VsyhiQksu ds [kEHks dks 10 lsds.M
esa ikj djrh gSA jsyxkM+h dh xfr Kkr dhft, &
1) 36 km/hr. 2) 33 km/hr.

3) 31 km/hr. 4) 37 km/hr.

48. If two cows and the three horses cost j 4000 and three cows

and two horses cost j 3500, how much does a cow cost?

;fn nks xk;ksa vkSj rhu ?kksM+ksa ds nke j 4000 gks vkSj rhu xk;ksa ,oa
nks ?kksM+ksaa ds nke j 3500 gks rks ,d xk; dk nke fdruk gS\
1) j 1500 2) j 1000

3) j 2000 4) j 500

49. If the product of two numbers is 320 and their ratio 1 : 5, then

the sum of these two numbers is-

;fn nks la[;kvksa dk xq.kuiQy 320 gS vkSj mudk vuqikr 1 % 5 gS]
rc la[;kvksa dk ;ksx gksxk&
1) 42 2) 48

3) 44 4) 40

50. A completes a job in 12 days. When A has done the job for three

days B joins him and they together complete the job in next three

days. In how many days B may alone complete the job ?

A ,d dk;Z dks 12 fnu esa iwjk djrk gSA tc A bl dk;Z dks 3 fnu
eas dj pqdk gksrk gSA B mlds lkFk mlh dk;Z dks djus esa 'kkfey
gks tkrk gS vkSj os nksuksa vxys rhu fnuksa esa ml dk;Z dks iwjk dj ysrs
gSaA B vdsyk ml dk;Z dks fdrus fnuksa esa iwjk dj ldrk gS\
1) 4 2) 6

3) 8 4) 10

GENERAL KNOWLEDGE

51- lksfM;e ukbVªsV (O;kikfjd uke&fpyh lkYVihVj) dk jklk;fud

lw=k gS%

1)NaNO
3

2) Na
2
CO

3

3) NaC1 4) NaHCO
3

52. Hkkjrh; ekSle os/'kkyk dgk¡ fLFkr gS\

1)/uckn (>kj[k.M)

2)dkj fudksckj (v.Meku o fudksckj)

3)½f"kds'k (mÙkjk[k.M)

4)iq.ks (egkjk"Vª)

53- fiQyksykWth (Philology) esa vè;;u fd;k tkrk gSA

1)Hkk"kk foKku dk

2)vè;kiu dyk dk

3)fVdV ,df=kr djus dh izo`fÙk dk

4)izkd`frd Hkwxksy dk

54- foLdksehVj (Viscometer) ;U=k ls ukik tkrk gS

1)gokbZ tgkT+k dh pky dh o`f¼

2)lw;Z dh fdj.kksa dh rhozrk

3)nzoksa dh ';kurk

4)nwj LFkkuksa ij gksus okyh HkkSfrd ?kVukA

55- ^tkWtZ Vkmu* fdl ns'k dh jkt/kuh gS\

1)fxuh 2) xq;kuk

3)Mksfefudk 4) Mksfefudu x.kjkT;

56- lqesfyr dhft,%

fuEufyf[kr dk vkfo"dkj@[kkst fdlus dh\

lwph&I lwph–II

A. pspd dk Vhdk 1- eSdfeyu

B. izksVksu 2- ,MoMZ tsuj

C. ckbflfdy 3- vksVksgku

4. ;wjsfu;e dk fo[kaMu 4- xksYMLVhu

dwV %

A B C D

a) 4 3 2 1

b) 2 4 1 3

c) 2 1 4 3

d) 3 2 1 4

57- Hkkjr ds nDdu izk;}hih; iBkj ij fdl feV~Vh dk vHkko ik;k

tkrk gS\

1)iksMtksy feV~Vh 2) yky ,oa ihyh feV~Vh

3)ySVsjkbV feV~Vh 4) dkyh feV~Vh
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80. I wish I ............. her to clean the room.

1) have asking 2) have asked

3) asked 4) had asked

81. He always takes full ........ of the mistakes made by his friends.

1) benefit 2) advantage

3) profit 4) use

82. The aim of education is to ......... the best in students.

1) bring on 2) bring in

3) bring about 4) bring out

Directions (83–85) : In the following questions, out of the four

alternatives, choose the one which best expresses the mean-

ing of the given word.

83. Frugal

1) economical 2) delicate

3) splendid 4) hungry

84. Motive

1) reason 2) occasion

3) intention 4) preparation

85. Pity

1) offence 2) mercy

3) kindness 4) joy

Directions (86–89) : In the following questions, four alternatives

are given for the idiom/phrase printed in bold in the sentence.

Choose the alternative which best expresses the meaning of

the idiom/phrase.

86. The project advanced by leaps and bounds.

1) rapidly 2) slowly

3) sharply 4) simply

87. She is too fond of her own voice.

1) loves singing 2) very selfish

3) does not listen properly to anyone else

4) very talkative

88. Indian police is, on the whole, high handed in dealing with

citizens.

1) kind 2) overbearing

3) prompt 4) adept

89. I take exception to your statement that I am had tempered.

1) do not agree 2) feel unhappy

3) object 4) feel angry

Direction (90–93) : In the following questions, a part of the sen-

tence is printed in bold . Below are given alternatives to the

bold part at (a), (b) and (c) which may improve the sentence.

Choose the correct alternative. In case no improvement is

needed, you enswer is (d).

90. The light went out while I read.

1) was reading 2) am reading

3) had read 4) No improvement

91. She said me about her holiday in Kerala.

1) told about 2) said about

3) told me about 4) No improvement

92. Why do you prefer the theatre than the cinema?

1) for 2) against

3) to 4) No improvement

93. He is the only man I know who can laugh at himself.

1) whose 2) whom

3) which 4) No improvement

Directions (94–95) : In the following questions, choose the word

opposite in meaning to the given word.

94. Vague

1) clear 2) dull

3) unknown 4) shady

95. Incredible

1) believable 2) possible

3) imaginable 4) enjoyable

Directions (96–98) : In the following questions, out of the four

alternatives, choose the one which can be substituted for

the given words/ sentence.

96. A paper written by hand

1) handicraft 2) handiwork

3) manuscript 4) thesis

97. The art of preserving skin of animals, birds and fish

1) taxonomy 2) taxidermy

3) topology 4) seismology

98. Related to moon

1) solar 2) moony

3) lunar 4) honeymoon

Directions (99–100) : In the following questions/, groups of four

words are given. In each group, one word is correctly spelt.

Find the correctly spelt word.

99. 1) erthiness 2) earthines

3) earthhiness 4) earthiness

100. 1) truely 2) truly

3) truily 4) trueily


